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QUESTION 1

When configuring a checklist application task what value must be select to ensure you will only be able to select from a
list of employee tasks verses manager tasks?

A. Ensure the owner field is set to employee.

B. Ensure the eligibility profile linked to the task contains criteria the include only active employees.
C. Ensure the owner and performer are both set to employee.

D. Ensure the performer field is set to employee.

Correct Answer: C

QUESTION 2

Identify the set enabled objects that are used for partitioning reference data.
A. department, location, jobs, grades

B. jobs, grades, salary plan, rates

C. legal entity, department, division, location

D. enterprise, legal entity, business unit, position

Correct Answer: A

QUESTION 3

There are two legal employers identified for your current application implementation. The legal employers have inherited
the number-generation method set at enterprise level. However, there is a need to override the number-generation
method at the legal employer level.

Which two options are correct? (Choose two.)

A. There are no conditions. The worker generation method can be changed to automatic at any time.

B. The employment model selected should be one-tier.

C. No Employee or Contingent Worker work relationships should exist for that legal employer.

D. The employment model selected should be three-tier.

E. Manual worker-number generation for a legal employer can be selected at any time.

Correct Answer: CE
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QUESTION 4

A multinational construction company, headquartered in London, has operations in five countries. It has its major
operations in the US and UK and small offices in Saudi Arabia, UAE and India. The company employs 3,000 people in
the UK and US and 500 people in the remaining locations. The entire workforce in India fails under the Contingent
Worker category.

How many Legislative Data Groups (LDGSs), divisions, legal employers, and Payroll Statutory Units (PSUs) need to be
configured for this company?

A. five LDGs (one for each country), four divisions (UK, US, India, and one for Saudi Arabia and UAE combined), five
legal employers, and four PSUs (all except India)

B. five LDGs (one for each country), four divisions (UK, US, India, and one for Saudi Arabia and UAE combined), two
legal employers and PSUs (US and UK only, because the workforce is very small in the other countries)

C. four LDGs (UK, US, India, and one for Saudi Arabia and UAE combined), five divisions (one for each country), four
legal employers (all except India), and five PSUs

D. five LDGs, five divisions, five legal employers, and five PSUs

Correct Answer: A

QUESTION 5

As an HR Administrator, you want to add an additional assignment for an existing worker. You access the worker\\'s
information via the Manage Employment task, select Update, and enter an Effective Date, but you are unable to select
the Add Assignment action from the Action field dropdown.

What is preventing you from selecting the action?

A. The employee has no active work relationships.

B. The employee has a suspended assignment.

C. Employment Model 2-Tier multiple assignments have not been enabled at the enterprise and/or the legal entity level.

D. The employee already has multiple assignments within that legal employer.

Correct Answer: B
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